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Section-A
gre-H
(Very Short Answer Type Questions)
(ot g ST 5)
Answer all the five questions. Each
question carries 3 marks. Very short

answer is required not exceeding 75

words. 3x5=15
T 9 bl B S AR | vl g
3 o @2 st 75 9= F R @y
I ST & |

What is meant by fair capitalization ?

Sfer Serepeor | @ e &7

| —
.

2. What do you understand by Stock

Exchange ?

e fafprg § ST 1 JHE &7
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3. Distinguish between historical return and

total return.
Uieriees yoe a9 %9 goE e
e pifSw |

4. Explain ‘interim dividend’.

‘STIRA I B R

S, What is the concept of time value?
I P T SR A 27
Section-B
qUe-q
(Short Answer Type Questions)
(7 Sl )

Answer any two questions out of the
following three questions. Each question
carries 7% marks. Short answer s
required not exceeding 200 words.
1/2x2=15
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Srfafag & g 8 A B & a3
wﬁmlqﬁfﬁﬂﬁmmﬁzﬁr%i
ST 200 I H TY I anfer B |

0. Calculate operating, financial and

combined leverages from the following

_information :
Frfafad ga | e, R 6
¥ ST @l TOFT HINT -
Total assets Rs. 30,000-
el Tl |
Total assets turnover ratio 2 times
Variable cost on sales 60%
aftEdsiict T fehl T
Fixed cost Rs. 10,000
KSR IUG
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Capital Structure  1Plan (Rs.) IT Plan (Rs.)

Equity share capital 30,000 10,000

AT T YR
10% Debentures  » 10,000 30,000
10% FOT9H

7. What do you mean by working capital ?

How would you determine the working

capital requirements ?

Prasfie ot & A9 7 e &7 HEe
Tt @ Tasawasl H A9 Y THR
FeiReT

8.  Define capitalization and explain i{s
theories.
gofiepror @t GRWT AT q T
=it @1 sATeal HITY |
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Section-C
gue-d
(Detailed Answer Type Questions)
(Frege s )

Answer any three questions out of the
following five questions. Each question
carries 15 marks. Answer is required in

detail. 15%3=45
Fr=ifefad o geet & € 5t &9 ust @

X ST | IS U 15 SR #MR 1
fﬁlﬂjw@’@lﬁ%l

9.  What do you mean by primary market?
Explain the eligibility guidelines for this
market issued by SEBL.

e SR & 4T ST9 o¢ el &N 39
N &l ggqr & g ST Ren-fest @
99 FifsTy
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10. The following details relate to the two

machines X and Y :

QAN X g Yy @ g fEwer B

T & :

Machine -X Machine-Y
Cost Rs. 56,125 Rs. 56,125
NINGY
Estimated life 5 years 5 years
STHINT Sile
Estimated salvage
value Rs. 3,000  Rs. 3,000

AT SHEAY G

Annual income after tax and depreciation:

FT U4 B1q & SIS i Y
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Year Machine-X Machine-Y

(Rs.) (Rs.)
I 3,375 11,375
11 5,375 9,375
II1 7,375 7,375
IV 9,375 5,375
\% 11,375 3,375

Ovethauling charges at the end of 3rd
year 1s Rs. 25,000 in case of Machine-X.
Depreciation has been charged at straight

line method. Discounting rate is 10%.

AA-X W T 9 & oFd § afigeeiferT
FE 25,000 §. 71 Hiel @m tEl @ B

I T & | Pk B & 10% 2 |
P. V.F. at 10% for five years are :

10% Ferfl &Y ¥ U a8 B U adue
T B § :
Year: 1 11 I11 iV V

PVF.: 0.909 0.826 0.751 0.683 0.621
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Il A company was recently formed to

manufacture a pew product. It has the

fOHOWi“g Capital structure

BN RN gom e gw o crr fe

TR :

_ Rs.

(1) 9% Debentures 6,00,000
9% FOTIH

(11) 7% Preference Shares 2,00,000
7% AS sir

(1i1) Equity shares (24,000 shares)6,00,000
AT 38T (24,000 i)

(iv) Retained earnings 4,00,000
gfcemiRa o
Total / 41T 18,00,000
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The market price of equity shares is Rg. 40
" A dividend of Rs. 4 per share js proposed,
The company has marginal tax rate of
25% and personal tax of shareholders is
30%. Compute weighted average cost of

capital for the company.

B & T ST B AR 5 40 5,
ufer S 814 5. Ui ST &7 Ay e
fRaT T 21 B B R R et @)
25% & T HANMRG F APRET FH-
AAE 30% B T B e G &
TR S @I ST I |

12. Z Ltd. belongs to a risk class for which the
appropriate capitalization rate is 10%. It
currently has outstanding 50,000 shares
of Rs. 10 each. The firm is contemplating
the declaratiop of dividend at Rs. 0.60 per
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share at the end of the current financial
year. The company expects to have a net
income of Rs. 50,000 and has a proposal
for making new investment of Rs. 1,00,000.
Show that under the M. M. hypothesis the
payment of dividend does not effect the

value of the firm.

Z . Sifgw ot & grafad 8 e 3k
TSR TT X 10% 81 a0AM H 6% 50,000
Ay ¥ S 10 5. 9 &y W @ @ B
g 9 B o § FE H 0.60 F. W
39T iy VT FA B AR B FEA
H 50,000 &, Y& A DBl FEHEA 8 A
1,00,000 5. % T AR SWE 2l
0. . qREOT & SER Fay %
QSIS A Bl G b e OR g T
Tl qedl |

NEP-5073



13.

(12)

What is Business Finance ? Explain the
traditional and modem approaches of

finance functions of business.

s o #0187 Aaais R e
P T W@ YEE e @
HIRT |
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